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SHEE cm GRok 1 Gk 2 4Rok 3 Uro 4 4Ro% 5

R 40 73 42 40 98

A& (cm) 6.7 6.8 11.7 7.6 5.6
HE(gw) 41.90 133.30 381.49 117.61 202.73

EFREHEE(Qw) 1.05 1.83 9.08 2.94 2.07

J5-E(cm) 6.5 15 14.2 9 6.7
E 2R E1E (cm) 127 272 257 99 153.7

58 # (kgw/m) 0.17 0.26 0.79 0.65 0.69
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(kgw/m) ok 1 Sk 2 A Sk 4 S5k 5
10 EElfE T 0.49 1.52 2.35 1.81 5.80
15 B{ET 0.41 1.31 1.92 1.36 3.79
20 [EfE T 0.26 0.96 1.33 1.04 2.79
25 BEET 0.25 0.77 1.19 0.85 2.32
30 [EIfE T 0.20 0.66 0.95 0.74 2.03
35 [EIfE T~ 0.19 0.55 0.86 0.65 1.76
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HAI(s) |4m5R1|4m9T2 | gmUT3 | 4m9T4 | 4mIt5S | EL(s) | IRl | T2 | T3 | RHE4 | YRS
10EHET | 0.5 042 | 08 | 045 | 027 |10 | 05 0.42 0.8 0.45 | 0.27
15 BT~ | 074 | 067 | 0.895 | 059 | 0.33 |15 B~ | 0.74 | 0.67 | 0.895 | 059 | 0.33
20BfET | 092 | 075 | 1.14 | 084 | 042 | 20FfEF | 092 | 075 | 1.14 | 0.84 | 0.42
25 BN | 113 | 1.02 | 147 | 098 | 053 |25 BfE | 1.13 | 1.02 | 1.47 | 0.98 | 0.53
30 BFER | 1.32 | 1.16 | 1.86 | 1.18 | 0.62 |30 EETN | 1.32 | 1.15 1.86 1.18 | 0.62
35 FEFET | 1.58 | 1.29 131 | 0.77 |35 B~ | 158 | 1.29 1.31 | 0.77
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HAir(s) &k 1 Ao 2 &R 3 o 4 4ok 5
10 EEIfE T 0.47 0.43 0.73 0.44 0.295
15 BE{ET 0.68 0.58 0.885 0.6 0.29
20 BT 0.97 0.71 1.37 0.76 0.42
25 FEET 1.12 0.94 1.57 1.06 0.52
30 BT 1.37 1.17 2.07 1.22 0.62
35 BT 1.65 1.3 1.4 0.71
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10 EBIfE T 0.58 0.42 0.86 0.45 0.26
15 e T 0.75 0.61 0.92 0.63 0.32
20 B7E T 0.91 0.81 1.24 0.85 0.43
25 BEET 1.12 0.91 1.53 1.02 0.5
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35 BT 1.55 1.26 1.29 0.69
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15 FEfE T 4 6 | 4 2 2 2 3 3 | 3 3 1 3 1 1 1
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ke - &h
AWTFEEIR - AR ERE I AE P ARSI Sm A - Ham L RS
RIFERG > NS HRENEIEBEREFWAERNSE - sERIFE ERERAR
B EE -
FEREEMENESES T > FEERIE O (GHEE ) - BEARRE IR
R HARERY > ERAHIRGE RN 2 P AE e EES - St —4EryEE)
HFZKE > #HHE(compound pendulum)ERFRBNAY I REATAE AL A5 FLIRBCR. -

17



SEEF

1~ B0 JBEERI(RE 74 4F) - B3RS BIHIE & 2% © 5 25 EeEH/h
ERVEIFon(ZREnH) -

2~ BREERS ?573745 HIAEERE 75 F) - e EBHE SR E 8 2 HIE - 5 20 EeE
EP/J\fEﬁﬂFYEuu —% -

= ﬁfﬁﬂf& 22 (RE 106 ) - RISV ALEER - 5 57 E2EF/N

%ﬂ@ﬁfuu EAF -

4~ BRAHEEERD o 2 E ¢ https://zh.m.wikipedia.org/zh-tw/%E6%93%BA -

5 ~ The Spring Pendulum ° Maplesoft - H{H
https://www.maplesoft.com/applications/view.aspx ?s1d=4897& view=html

6 ~ Double pendulum > WIKIPEDIA - H{H : https://en.wikipedia.org/wiki/Double_pendulum

7 ~ Double Pendulum(#5 IS EHVEEERE D) » Math24 < HUH -
https://www.math24.net/double-pendulum/

8 ~ Simple Harmonic Motion » UCLA Physics Instructional Resource Lab » HUH :
https://demoweb.physics.ucla.edu/content/100-simple-harmonic-motion#

9 ~ Wilberforce pendulum » WIKIPEDIA - H{H :
https://en.wikipedia.org/wiki/Wilberforce pendulum
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fitsr— ~ A2 AERR

— ~ mathematica F2=Ch%E

Inf25]= g=9.8; k=90.1; m=0.02; L0 = 1; tm = 10;
xinitial = {@, 0.5} ; (*coordinate,velocity=)
yinitial = {-L@, 0} ; (*coordinate,velocitys)

]

equs = {mx" [t] == -kx[t] [1

Le
Vx[t1? 4 y[t)?

Le
my''[t] =ky[t] |-1+ ——— | -mg,
Vx[t]?+y[t]?

x[0] = xinitial[[1]], x'[@] = xinitial[[2]],

y[0] = yinitial[[1]], y'[0] =yinitia1[[21]};
s = NDSolve[equs, {X, y}, {t, @, tm}];
{x; ¥} = {3, y} /- s[[1]];
ParametricPlot[{x[t], y[t]}, {t, @, tm},
PlotRaEge-. {{-90.5, 0.5}, {-5, 0.5}},

AxesLabel - {"x", "y"}, AspectRatio + 0.5,

PlotStyle - Thickness[0.004],

AxesStyle + Thickness [0.003] ]

Clear[g, k, m, LO, tm, equs, 5, X, y]

173= g=9.85k=3;m1 =0.1; m2 = 0.1;

L1=1;12=0.2; tm=5;

initiall = {0, 1.4/11};

initial2 = {0, 0.0, - (L1+12), 0};

temp = 211 (y2[t] Cos[o[t]] - x2[t] Sin[6[t]]);

L= \/xztt]’ +y2[t]12 + 112 4 temp ;
equs =

{6"[t] =

k
mllLl

L2
(y2[t] Sin[o[t]] +x2[t] Cos[0[t]]) (1- T)
- ﬁﬁge[m,

3

L2
x2''[t] = - (x2[t] - L1 Sin[o[t]]) (1- T)

2°''[t] = - (y2[t] + L1 Cos[o[t 1BL
Y2 [4] == (28] + L1Conlol m (- 7) 5-e
©[0] = initial1[[1]], 6'[@] = initiall[[2]],
x2[0] = initial2[[1]], x2' [@] = initial2[[2]],
y2[0] = initial2[([3]], y2'([0] == initial2[[4]] }i
s = NDSolve[equs, {0, x2, y2}, {t, 0, tm}];

{6, x2, y2} = {6, x2, y2} /. s[[1]];
ParametricPlot[{{L1+Sin[6[t]], -L1xCos[o[t]]},

{x2[t], y2[t]}}, {t, O, tm},
PlotRange -+ {{-0.6, 0.6}, {-2, 0}},

AxesLabel » {"x", "y"}, AspectRatio - 0.6,
PlotStyle - Thickness[0.004] ,

AxesStyle -+ Thickness[0.003] ]

Clear([g, equs, s, ©, X2, y2, initial1l, initial2)

B S 1A

T

2 ~ Double pendulum | Chaos | Butterfly effect | Computer simulation £ 5#4% -

https://www.youtube.com/watch?v=d0Z8wLLPNEQ

3 ~ Wilberforce pendulum &2

19

HZE  https://www.youtube.com/watch?v=UDXcYJ1dOYc
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-20
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muﬁﬁﬁm
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